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Section - (Physics)

It :
E‘ and G Teéspectively denote energy and

of - nstant, then £ has the dimensions
. G
(1) [M] [L‘l] [T—l]
1 ®) [M2) [L-2) T4

® 0Py

-

i
.

2, A :

® ahcaPaCIt'Ol‘ of Capacitance ‘C’, is connected across
. ac source of veltage V, given b
'.“'# V=V Sing i 4

o 0 SiRet *.
e di )
! gk dlsphment current between the plates of
Cap&c;igr, would then be given by :

] V,
(? Id =24 cosmt,

oC

V,
@ Ig= ﬁ Sinwt ',
®3) I4= Vi 0Csinwt
@ I,= Vo oCeoswt

3. Alens qf large focallength and large aperture is
best _uted as an ebjective of an astronomical
* teleseope since
(M alarge aperture contributes to the quality
and visibility of the images.
(2) a large area of the objective ensures better
light gathering power.
(@)  alarge aperture provides a better resolution.
4 all of the above.

4. The electron concentration in an nstype
semiconductor is the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them. Compare
the currents in them.

(1) currentin p-type >current in n-type.
(2) currentinn-type >current in p-type.
(3  No current will flow in p-type, current will

i only flow in n-type.

s (4 current in n-type = current in p-type.

5 ’lw*'A body is executing simple harmonic motion with
frequency ‘n’, the frequency of its potential energy

gis
é‘.(l) 2n

0. n -

\'{/
des down on a 8m9
om rest at t1me s

plane, starting fr led by the block ig
n

the distance trave 5
" / .
t=n-1tot=n. Then, the ratio uE

oth inclined
. Let S, be
the interval

A small block sli

2n—1
@ 2n+1
2n+1
@ 901
2n
G 2n-1
2n—1
) 2n

Polar molecules are the molecules :

(1)  acquire a dipole moment only in the presence
of electric field due to displacement of
charges. :

(2)  acquire a dipole moment only when magnetic
field is absent.

(3)  having a permanent electric dipole moment.

1

(4)  having zero dipole moment.

Two charged spherical conductors of radius R, and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (o,/0y) 18

R
M R—f
R
o |3
R
® g
R
Wi :

Consider the following statements (A
and identify the correct answer, () and ' &

(A) A zener diode is connected In reverse bias
when used as a voltage regulator. )

(B) The potential barrier of P-n junction lieg
between 0.1 Vt00.3 V.

(@) . (A) and @) both are mheorriot:

@  (A)iscorrect and (B) is incorrect.
®  (A)is incorrect but (B) is correct.
@  (A)and (B) both are correct.
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A nucleus with mass number 240 breaks into two
fragments each of mass number 120, the binding
energy per nucleon of unfragmented nuclel is
7.6 MeV while that of fragmentsis 8.5 MeV. The
total gain in the Binding Energy in the process

is -
1) 94MeV
@ 804MeV
B 216MeV
: @ 09MeV

. 12 For a plane electromagnetic wave propagating in

‘ x-direction. which one of the following combination
gives the correct possible directions for electric
field (E) and magnetic field (B) respectively ?

A A A A

@D  _j+k —j-k

A A A A

2 ik -j-k

A A A A

@ _j+k —j+k

@

15.

16.

b

-

N@‘ w

W | 2

Wit
( ) 2 ’
S [3gS
O Tylivs
S 3gS
(4) Z’ 2

shown in the figureis:

I 5
§ T _
E Lo
i
C
(1) 2C
2 C2
3 3C2
4 3C

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are

connected in series to an ac source of potential
difference V' volts as shown in figure. 3

Potential difference across L, C and R is 40 V,
10V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is
102 A. The impedance of the circuit is :

40 N -—<— 10 V=ne—aO
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v gauge gives the following readings when
o measure the diameter of a wire

scale reading : 0 mm

scale reading : 52 divisions

iven that 1 mm on main scale corresponds to

divisions on the circular scale. The diameter
he wire from the above data is -

0.026 cm
0.26 cm
0.052 cm
0.52 cm

field ‘E’ in the space between the plates. If the
distance between the plates is ‘d’ and the area of
- eachplate is ‘A’, the energy stored in the capacitor
18 (¢y =permittivity of frée space)

(1) gEAd

An electromagnetic wave of wavelength ‘N’ is
incident on a photosensitive surface of negligible
Work function. If ‘m” mass is of photoelectron
mitted from the surface has de-Broglie wavelength

@ LeyEAd
2
E2Ad
80 1!'.\:; 2 P ‘
1 2 ﬁ )
3%0E T

29.

30.

@

ive resi allel connec
The effective resistance of a par ‘ ’
consists of four wires of equal lgng?:h, equg area (
cross-section and same matepal is 0.25 Q. v i
will be the effective resistance if they are connect A
in series ? &

1 050

@ 10

@ 40 '
4 0250

.

An infinitely long straight conductor carries a
current of 5 A as shown. An electron is moving
with a speed of 10% m/s parallel to the conductor.
The perpendicular distance between the electron
and the conductor is 20 ¢cm at an instant.

Calculate the magnitude of the force experienced
by the electron at that instant. '

L]
6{@,“1\!

Electron v=10° m/s

=

1 20 cm

!

P 5A Q
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o
n+r3

&)
@ Iy +r3
A particle moving in a circle of radius R with a
uniform speed takes a time T to complete one
revolution. (== 0 B
If this particle were projected with the same speed
at an angle ‘0’ to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 6, is then given by : ‘ '
: : @ an equilateral triangle of side ‘a’.
2p )%

resistance ‘R’ is wound up as a curren ,'j '
coil in the shape of,

Q) 6=co -1 ()  asquare of side ‘a’. ba

€

The magnetic dipole moments of the coil m.
case respectively are :

%
(7R )* ()  3Ia%andfa2
eT? (@ 3Ia%and 41a2
(g2 V2 | ®  4Ia’and 3Ia2

@
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45.

46.

220 V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

(1 1320V

@ 1520V
(3 1980V
4 660V

A series LCR circuit containing 5.(5.’ H inductor,
(- 80 wF capacitor and 40°Q resistor is connected to
~/ 230V variable frequency ac source. The angular
wfrequencies of the source at which power

transferred to the circuit is half the power at the

resonant angular frequency are likely to be :

(1) 50 rad/s and 25 rad/s
(2) 46 rad/s and 54 rad/s
3 42 rad/s and 58 rad/s \
(4) 25 rad/s and 75 rad/s ’

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector is removed. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the
ring and perpendicular to the plane of the ring is

‘K’ times ‘MR?. Then the value of ‘K’ is :'

@

Twenty seven drops of same size are charged at

mirror were pu
of the lens anc

(1) 30 cm from the lens, i
image. B o
(2) 30 cm from the pla
virtual image. 4
(3) 20cm from the p
virtual image.
(4) 20 cm from the I
image. ;
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58.

59.

m: A
e s of the elements F, CL, Br, I increases
~ down the group, the bond strength of HF, HC],

HBr and HI decreases and so the acid strength

increases.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are
false.
(2 Statement I is correct but Statement II
is false.
(30 Statement I 1is 1incorrect but
Statement II is true.
(49 Both Statement I and Statement II are

true.

Which one of the following polymers is prepared
by addition polymerisation ?

(@)) Nylon-66
2) Novolac
(30 Dacron
(4)  Teflon

A particular station of All India Radio, New Delhi,
broadcasts on a frequency of 1,368 kHz (kilohertz).
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x108ms™ 1]

@ 219.2m

2 2192m

3) 21.92cm

4 2193m
Zr (Z=40) and Hf (Z = 72) have similar atomic and
ionic radii because of : 4 _

63' Anm COMpo
and remaining
(1) CH,
(2) CHj;
(3) CHy
4 CH
64. The pK; of dimethylamine z d;
are 3.27 and4¢77 >34 '.ul
option for the pH of dimeth;
solution is :
1 5.50
@ 175
3 625
@
65.
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o
B e the compound that will react with Hinsberg’s
::;ehz to give a solid which dissolves in alkali.

-

—

Pressure (P)
(bar)

Volume (V) —
(dm?3)
CHr,
@ CcHY No,

The compound which shows metamerism is :
(1) CgHgO

@ CyHgO

@ C4H,,0

@ CgH,,

—

600
00 LS
Given below are two statements :

Statement I : V. :
: olume (V) —»
Aspirin and Paracetamol belong to the class of (de)(V)

narcotic analgesics.
Statement Il

Pressure (P)
(bar)
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75.

76.

- jf 8

74. The incorrect statement among the following

7

is
(1)  Most of the trivalent Lanthanoid ions are
colorless in the solid state.

(20 Lanthanoids are good conductors of heat and

electricity.

(3 Actinoids are highly reactive metals,
especially when finely divided.

(4  Actinoid contraction is greater for element

to element than Lanthanoid contraction.
Which of the following reactions is the metal
displacement reaction ? Choose the right option.
(1)  Cr,05+2A1—=— AL,0,+2Cr
@  Fe+2HCl— FeCl,+H,T
@)  2Pb(NO,),— 2PbO +4NO,+ 0,1
(4) 2KCIO;—2— 2KCl+30,

Which one among the following is the correct option

for right relationship between Cp and Cy for one
mole of ideal gas ?

EEGpoCy=R

® . Co=Rc,

3 Cy=RC,

@  Cp+Cy=R

‘::ﬁghﬁ following alkaline earth metal halides, |
S :13 Covalent and soluble in organic

;r’:c}‘y

o

Strontium chloride
Magmsiu'm ch 1

81.

82.

Vitamir
/1tamin

in blast furnaceis:
(1)  upto2200K
(2) uptol900K
(3) upto5000K
(4)  upto1200K

The major product of
reactionis:
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201.28 S cm? mol 1

The correct option for the number of body F:entre d
anit cells in all 14 types of Bravais lattice unit

cellsis:
n 5
@ 2
@ 3
@ 7

Section - B (Chemistry)wo)

Which of the following molecules is non-polar in
nature ?

(1) CH0

@

For irreversible expansion of

(1)  AU%0, AS,,,,#0
@  AU=0,ASiu#0
@ ot =0, B
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tion for the total pressure
f4g0,and 2g H,y confined
litre at 0°C is :

‘Choose the correct op
(inatm.)ina mixture o
in a total volume of one

[Given R=0.082 L atm mol ~ 'K~ 1, T=273 K]
1 2602 |

@ 2518

@  26.02

@ 2518

y
CH,CH,CO0~Na* —ﬁ%?l——i’tt'—» CH,CH, +

Na,CO;.

Consider the above reaction and identify the
missing reagent/chemical.

(1) Red Phosphorus ~

@ CaO

(3) DIBAL-H

@ ByHg

94.  The slope of Arrhenius Plot (ln k v/s -;,—) of first
N o . Of
reactionis. Choose the correct option ur |

A :-or'der reaction is —5x 103 K. The value of E,

Scanned with CamScanner

(b)

()

@

HOCl(g) v,
6H + él

NO,(8) -
NO(g)

Choose the
below.




4 @ R-CH,COOH

(i Xp/Red P
(i) H20

Choose
below.

© (@G, G-, ©-6) @-av)
@ (@-0), b-iv) (-G, @-@)
@  (@)-G), )G, ©-v), @-0
@  (@)-Gv), B)-6), ©-), @-Gi)

99. In which one of the followin
given sequence is not stric_
properties indicated againstit?

1) H,0<H,S

<H,Se <HyTe
20 NH;<PH;

< AsH; < SbH;3
3 C0Oy<85i0y

(iv) Esterification

the correct answer from the options given

g arrangements the
ly according to the

Increasing pK,

Increasing
acidic character

Increasing
oxidizing power
Increasing acidic

, ~ strength

(3) Rubber, gums SIARE
(4  Morphine, codeine

Mutations in plant cells can be inc
(1) Infraredrays

@2  Gammarays

(3) Zeatin

(4) Kinetin

When gene targetting involving gene amplificz

disease, it is known as :
(1) Gene therapy
(2) Molecular diagnosis | e
(3)  Safety testing . ‘
4 Biopiracy

Which of the following algae contains
reserve food material ? Y

M

(1)  Gracilaria
@  Volvox
3)  Ulothrix

@) Ectocarpus
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110.

111.

112,

@)
The factor that leads to Foun
Population is :

(1) Genetic recombination

(@)  Mutation

3 Genetic drift

(4 Natural selection

Match List - I with List - IT.

b

auch as mbaﬁ'ﬁ&ogem, I
sent In the soil at any

der effect in a

List -1 List - II

(a) |Protoplast fusion (@) [Totipotency

(b) |Plant tissue culture (1) |Pomato

(c) [Meristem culture (11) |Somaclones

12158605

L (@) Micropropagation (iv) |Virus free plants

Choose the correct answer from the options given

below.
@ b ©© @
O @ O G (1m1)
@ @ G (i1)
@ (v ) ) )
@ G Gv i @)

Which of the follow
stepsin a PCR (P

) Denaturation, Extension, Annealing
@  Extension, Denaturation, Annealing
@) Annealing Denaturation, Ext n

(4) : Denaturﬂtion, Anne A

¥ R e
S\ R N v -

Ing is a correct sequence of |
ymerase Chain Reaction) ?

@ G g
@) @) 3
@ G
114.
@
(2) Pea

(3)  China rose and cm‘us Gy
(4)  Chinarose | )

115. The plant hormone used to

1S3 8 1
1) NAA

@ 24D

@ IBA

@ IAA

116. During the puriﬁcatiqx{ )
DNA technology, additic
precipitates out : ’

W)

®
®
@
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‘ éf_&e following plantsis monoecious ?
g; Marchantiapt{lymﬂrpha

@ Cyeas circinalis

@  Caricapapayd

Which of the following stages of meiosis involves
division of centromere 2

(1 Metaphase I1

@ Anaphase IT

() Telophase I

(4) Metaphasel

The production of gametes by the parents,
formation of zygotes, the F; and F, plants, can be

understood from a diagram called :
(1) Punchsquare

(2) Punnett square

(3) Netsquare

(4 Bulletsquare

Gemmae are presentin:
(1)  Pteridophytes

(2) Some Gymnosperms
(3) Some Liverworts

@ @
Gv) ()

Which of the following statem onts

@)

@
3)

(€Y

Pyramid of biomass in se
upright.

Pyramid of numbers in a grassl
ecosystem is upright.

.. Pyramid of biomass in sea is genera
inverted.

two equal arms of chromosomes, the chrom
is referred as:

@
@)
G
@

Telocentric
Sub-metacentric
Acrocentric
Metacentric

DNA strands on a gel stai

bromide when viewed under
as: el s 5
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¥ f(’ﬁ

i

@
G
“ i
Section -
@  Environment factor 186. What is the
(@  Respiration losses process of tr,
(9 Radiantenergy 1 Tra vidi
182 Match List - I with List - II. @  Tranifihegane, o B g
List -1 List - 1I ©  Transeribesonly snRnas
Cells with activecell | . |Vascular (@ Transcribes rRNAg (988 186 oo
)]di\ision capacity " |tissues ) M(m'm e
SR hving Wil cells | |Meristematic 187, WS following statements is incc o
[(b) similar in structure | (@) | . (1 Stroma lamellae have PS | only ar
and function NADP reductage. 4 e
: cjﬁssue having (i) | Sclereids (2> Granalamellae have both PSTand’
different types of cells @) Cveli i Lo Y
e . yelic photophosphorylation invols
Dead cells with highly PSTand PS1I i
(d) |thickened walls and | (iv) |Simple tissue ¥ o
B sias @ ?yor:ixh A‘TPd aLntld N_ADPH+H‘-;,_}
= e - TR T esize uring  non-cy
Select the correct answer from the options given photophosphorylation. i
below. #0)
@ () @© @ 138. In some members of which of the following p
M v @ @ @ of families, pollen grains retain their viability
@ & @ @) Gv) months after release ? :
B @ @ v @ (1) Poaceae ; Leguminosae e
@ @ G @0 (Qn) (2)  Poaceae ; Solanaceae
133. Complete the flow chart on central dogma. @ | Rosalsais s . 0 .
I (b) ¥ 4  Poaceae ; Rosaceae
@(DNA 24 nrNa @, (g)
() (a)-Translation: (b)-R e 139. Match List - I with List - I1. 2
: ‘C’"TTaD.ECI'iption: (d)-Transduction List - I List -
() :2:"?9?11013;@011: (b)-Transcription; (a) [Protein (1) |C=C double bon
"~ ransiation; (d)-Protein Unsaturated |y : ;
(3) ). LT E g i1) |Phosphodiester
‘ ia, Tra“,““%%n; (b)-Translation; ® fatty acid ,('_. }oice) p Sl
) ©-Replication; (d)-Protein it) | Glycosidic bonc
: (a)-Replication- e M) A T T
(6 Traneg on: (b)-Transeription: I

sduction; (d)-Protein
134. “hdl Of t-he fOH : l
(Polymerage Ch(:;zng 'S ot an application of PCR

Reaction) 2
g; Gep n.eEamphﬁ@ltion )
@ De 25n of isolated protein
@ “"of gene mutation
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141

142,

i\? _..,.!‘:i'. m

aw the correct answer from

@ b © @
@ O @ @ @
@ @ O @ Q@
@ G @ @ O
@ ® @ O @

Which of the following statements is correct ?

(1)  Fusion of protoplasms between two motile
on non-motile gametes is called plasmogamy.

@  Organisms that depend on living plants are

called saprophytes. e

(3) Some of the organisms can fix atmospheric
nitrogen in specialized cells called sheath

cells.
(4)  Fusion of two cells is called Karyogamy.

Match Column - I with Column -1I.

Column -1

(2) %§ K Crrzs@BonS

‘options given |

Column - II

(i) Brassicaceae

(i1) Li]iace ae

144,

145.

as :
(1)
@)
3)
4)

@™

@
G

@)

in some specific regions in DNA sequ

Repetitive DNA
Single nucleotides
Polymorphic DNA
Satellite DNA

Which of the following statements is incot'recﬁ]?f:.

In ETC (Electron Transport Chain), m
molecule of NADH + H + gives rise to

2 ATP molecules, and one FADH gives rise
to 3 ATP molecules. A

=)
A

ATP is synthesized through complex

Oxidation-reduction reactions
proton gradient in respiration,
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149.

150.

List - 11

Proteins are
synthesized

Inactive phase

G2 phase

¢ Interval between
Quiescent stage mitosis and initiation
of DNA replication

[ @ (iv) [DNA replication

Choose the correct answer from the options given
below.

G1 phase

@ ®m © @
®» v @ G e
@ @ O @ qi)
@ @ G @ @
@ @ @ @ G

In the exponential growth equation
Ni=Ne™, e represents :

(1) The base of exponential logarithms
(2) Thebase of natural logarithms

(3)  The base of geometric logarithms
(4)  Thebase of number logarithms

Now a days 1t is possible to detect the mutated
sene causing cancer by allowing radioactive probe

to hybridise its complimentary DNA in a clone of

cells, followed by its detection using

autoradiography becauge -
(1)  mutateq gene completely and clearly
appears on g Photographic film.

@)

3) mutateqd
p

hOtOgra 4 »
Braphic ;)
compliment, i
Mmutateq gen : Lgsesl g

. UM as the pro'bé has
) 1ty with it ‘

Vaults _ ‘,

()
(b) [TUDs
(©) Vaaectomi !
(d) | Tubectomy |Gy
Choose the correct u
below. T
(a) (b) (Q) .m :
® O @ G G
2 Q) (Gv) (i) e
@ @ @ (v (ii)', .
@ v @ @ a
O F i %
153. The organelles that are included in
endomembrane system are:
()’ “Endoplasmic reticulum, Golgi com
Lysosomes and Vacuoles el
(@) Golgi complex, Mitochondria, Ribosomes
Lysosomes s Ao 3
(3)  Golgi complex, Endoplasmic reticul
Mitochondria and Lysosomes
(4)  Endoplasmic reticulum, Mitoch ng
154.
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(@), (b) and (c) oty o

m : Rk regard to insulin choose correct optmns
(@  C-peptide isnot present in mature insulin.
® The insulin produced by rDNA technology @
has C-peptide. )
(©  The pro-insulin has C-peptide. 3)
(d A-peptide and B-peptide of insulin are “@
interconnected by disulphide bridges. s
Choose the correct answer from the options given e SEEED '?he favouraRls condl'tl R
e formation of oxyhaemoglobin at th:
(1  (b)and () only @ It;OW POy, high pCOz, mor :
i oanlg et ) H:ie;agxr eh1 h pCO,, 1
2, high p ; ess H
(3 (a)and(d)only temperature A -
@  (b)and (d) only

® ow POy, low pCO,, more HT,
72 t R
The partial pressures (in mm Hg) of oxygen (0y) mperature

and carbon dioxide (CO,) at alveoli (the site of @ High pOy, low pCO,, le;s '
diffusion) are : ielapEture i
()  pOy=40and pCOy=45 Which enzyme is responsﬂ)]_e -
@  pOy=95and pCO,=40 Inactive fibrinogens to ﬁb f
p0,=159andpC0,=03 ) ]
902 104 ande‘O 40 5

Pancreaticjuice
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168. Persons with ‘AB’

Diakinesis
(3)  Pachytene
(4)  Leptotene

blood group are called as
“Universal recipients”. This is due to :

(1) Absence of antigens A and B in plasma

(@)  Presence of antibodies, anti-A and anti-B,
on RBCs

(3)  Absence of antibodies, anti-A

and anti-B, in
plasma

(4)  Absence of antigens A and B on the surface
of RBCs

169. Sphincter of oddi is present at :

(1)  Junction of hepato-pancreatic duct and
duodenum

(2)  Gastro-oesophageal junction

(3)  Junction of jejunum and duodenum

4)  Tleo-caecal junction

Which one of the following is an example of
Hormone releasing [UD ?

1., LNG20

By O T

()  Multiload 375
4 Cur

171. If Adenine

e —

‘ makes 30% of the DNA molecule, what
will b‘? the Percentage of Thymine, Guanine and
Cytosine in it ?

(1)
)

@),

T:20;G:20;¢. 39
T:80,G:20;¢.99
T:20;G:25;C:25
T:20:G:30;¢: 99

@)

174.

175.

176- 4

()  Extension ' "
@  Denaturation
(3)  Ligation o
@  Annealing e ‘
Match the following :

List -

(a) | Physalia (i)
(b)|Limulus (11)
(c) [Ancylostoma
(d)|Pinctada (iv) [Hookwor

Choose the correct answer from
below.

@ b ©@ @
O o O @ @
@ @ @ W O
@ O M @
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ominal segment in both sexes, bearg
of anal cerci

o A ring of gastric caeca 1S present at the
; T junction of midgut and hind gut,

Which of the following statements wrongly
- Tepresents the nature of smooth muscle ?

(1)  Theyare involuntary muscles
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4 s ‘:' v ’md ‘AAG’ both codons code for the amino (9) A.ti i
S .&the hght of the above statements, choose the | 192. Match Lis
 correct answer from the options given below. o
(1) Both Statement I and Statement II are s
false Adap‘hﬁef*
3 (a) diﬂ '\,-'\
(2 Statement I is correct but Statement II radiation
- is false i
: 5 : Convergent |,..
(6)] Statement I is incorrect but (b) extiiition, 4 i
Statement II is true o I ergent (m) W‘*
(4) Both Statement I and Statement II are evolution | |Bir
true Evolution by -
(d)|anthropo-  |(@iv) |Da
188. Which one of the following statements about genic action ! g
Histones is wrong ? Choose the correct ;
i) The pH of histones is slightly acidic. below. 5 Py
B airarse Brrd . @ O © %
(2) Histones are rich in amino acids - Lysine @ 0" @) .
and Arginine. @ G e R
W, (3) Histones carry positive charge in the side (3) (%)
. @ @G ( _
i Match List - T with List-IL
. I~ C 1St-1V 1 LS g
(4) Histones are organized to form a unit of 198 i - — —
8 molecules. List 11« o SN
189. Identify the types of cell junctions that help to sto 3 (a) Fllal: gt ik
the leakage of the substances across a t18s tisste an 1| ] BN ;
facilitation of communjcation with neighbouring
iy cells via rapid transfer of ions and molecules. ] :
(1) Tight junctions and Gap Jumc¢1ons Lo ) [
Thai reBPECtIVe y. ‘-:‘l T
TR @  Adherin Tt :
o L S g junctions and Tight ct:lons
2%, TR respectively. lgh, »ﬁm s
- (3  Adhering W g
Bk juncti and"' i
- respectively. Sos A

‘Gap junctio
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195.

i
=
s 'A
!;
;.

196.

d.uthwom
It serves as a covering for mouth.

(@)

) Ithelps toopen cracks in the soil into which
it can crawl.

© Itisone of the sensory structures,

@  Itisthe first body segment,

Choose the correct answer from the options given
below.

(1) (a), (b)and (d) are correct

2) (a), (b), (c)and (d) are correct
3)  (b)and (c) are correct

(4)  (a), (b)and (c) are correct

Match LisL-I with List - IT.

List -1 List - 11
(a) [Allen's Rule | (i) |Kangaroo rat
Physiological | ..
b ( Jesert lizz
(b) Rptation 1) | Desert lizard
(c) Behav1qura| (i1}) Marine fish at depth
adaptation
Biochemical |,
)]' £ "]
(d) B oy (iv) |Polar sea

Choose the correct answer from the options given
below.

(@ () (© @
1) Gv) @) (1)  (i1)
2 aGv) O (1) (i)
@ Gv)  Gi) @ )
@) @Gv) G G 6

During muscular contraction which of the
following events occur ?

(a)  ‘H zone disappears

() ‘A’band widens

(¢p ‘I'band reduces in width

(d)  Myosine hydrolyzes ATP, releasing the ADP
and Pi

)  Z-linesattached to actins are pulled inwards

Chow the correct answer from the options given

198,

199.

(n)
(h)
: (c)

(Cranium

Sternum
Vertehral colum

helow.

(@ (b (@ do 5
1 Gy Gi) @) G
@ Gy (1) @) @ == :
@ Gv) i) G ) -:,I,w{_"
4y () iy (1)  (v)

Assertion (A) :

A pergon goes to high altitude and experiences
‘altitude sickness’ with symptoms like breathing

difficulty and heart palpitations.

Reason (R) :

Due to low atmospheric pressure at high altitude,
the body does not get sufficient oxygen.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(2)  (A)istrue but (R) is false

(3)  (A)isfalse but (R) is true

(4) Joth (A) and (R) are true and (R) is the

correct explanation of (A)

Which of the following secretes the hormone,
relaxin, during the later phase of pregnaney ?

(1)  Corpus luteum
(2) Foetus

(3)  Uterus

(4)  Graafian follicle

Which of the following is not a step i
Ovulation Embryo Transfer k
(MOET) ?

(1)  Cow yields about 6-8
(2)  Cow is fertilized by art
(3)  Fertilized eggs are

_ mothers at 8-32 cell s
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